VTX CNAO runs

Alignment runs

Synchronisation runs

Physics runs




Alignment runs

+VTX:
e Dedicated run w/o target
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Synchronization runs

+Need other detectors:

e Run w/o target with ST+BM

Browser Eve ‘

Eve |Files Info | Viewer 1 | Histograms |

&9 @ 147 2| ¥ Refresh &‘— Viewer 1 | Actions|

Event:

[Run -1 Event 148

Events to Read:

l

Selection:

Clear| Reset Histo

EvtTime
TrigTime
stTotCharge

stDeltaTime_ch0
stCharge_ch0
stMaxAmp_ch0
stDeltaTime_ch1
stCharge_ch1

Command |
Command (local): | [+]




Physics runs

+ Detector ST+BM+VTX+TW (+CAL):
e run with target
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